
1) Find area of square 
having each side (s)
equals 26 in

Answer: ____________

2) 45 x 85

Answer: ____________

3) 260 ÷ (-20)

Answer: ____________

4) 90 - 33

Answer: ____________

5)

A = 20  B
Find the Angle at side B.

Answer: ____________

6) 66/8 x 68/10

Answer: ____________

7) s8 * s11

s13

Answer: ____________

8) Solve by factorising 
x2 - 6x + 5 = 0

Answer: ____________

9) Share 8 in the ratio 7:1

Answer: ____________

10)

'Name the type of angle.

Answer: ____________

11) 12.7 x 21.3

Answer: ____________

12) 3   3/8 - 4   3/8

Answer: ____________

13) Find the percentage change from 11 
to 22

Answer: ____________

14) 'What is the probability of rolling a 
number less than 5.when rolling a 
dice

Answer: ____________

15) 61/10 x 55/6

Answer: ____________
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16) 61/10 x 55/6

Answer: ____________

17) 47% of 33

Answer: ____________

18) Decrease 30 by 70%

Answer: ____________

19) Find perimeter of 
square having each 
side (s) equals 25 cm

Answer: ____________

20) 12 x (-4)

Answer: ____________

Total: ___ / 20
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Answers:

1) 676in 2) 3825 3) -13 4) 57 5) 160 6) 459/10 7) s6

8) x = 5 or 1 9) 1 : 7 10) Obtuse 11) 270.51 12) 2 13) 100% 14) 2/3

15) 357/12 16) 357/12 17) 15.51 18) 9 19) 100cm 20)
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